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2. Find th@f the function.

f(x)=4/5x-15

The domain is . (Type your answer in interval notatio

Answer: [3,00) ,
/(;,(/ > m
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

fx) = 2x+3; g(x) = 9x - 4 ("f9 ) -
(@) Find (f+ g)(x) F M 7 6] l \
| (n(/*") F (W) - TP

f+g)(x)= (Simplify your answe[_) _
24 % WY
What is the domain of f + g? Select the correct choice beiow and, if necessary,

— 7, 12T

Iin the answer box to complete your

choice. (: // X - / A A
O A. The domain is {xl B } ( :J /"// )
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.) ' (7&_ o / g L)
O B. The domain is {x| x is any real number}. o . X
try) — (1) e
(b) Find (f - g)(x). G -
2 k75 7+ & - ( — >, O/ j
(F-g)(x) = (Simplify your answer.) ‘// e T

¢ .
What is the domain of f - g? Select the cnrrec{gﬁc?%mand if necessary, f||| in the answer box to complete your

choice. ( . // /7

O A. The domain is {x| % X j/x')

(Use integers or fractions for any numbers in the ex ressnon Use a comma to separate ——

answers as needed.) /Z){Ff / //" » ~ W
O B. The domain is {x| x is any real number}/?,x, =" /K Z7)< — (‘/()ﬂ’) 4.

(c) Find (f+ )00 ik 7;,‘.? X —l2. RZ \:% ) )

(feg)(x)= (Simplify your answer) — ~o

What is the domain of f+g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. (:;* ), ) < A g M=

: ¢
O A. The domain is {x] }. 77 (X~ =G = (‘)*/C/
(Use integers or fractions for any numbers in the expression. Use ?éomma to separate / /( V
answers as needed.) / /_,, 74

A 9K _ &

() B. The domain is {xl x is any real number}. j{(’() 4 . / L T

f ,"‘__ - . o ;
(d) Find [5](x). X2 -3 .“;\ -~ i A/Z/*’c/} \
7)(/ ~ ( C U -G . g i

f ' . _
(5](x)= (Slmphfyyouranswer)(,[jj/f)(/ //D/»—’ Y
/Id//ey i)~

f
What is the domain of — g —7? Select the correct chowgzb and, if necessary, fill in the answer box to complete your

( v /[ ) ‘iif’;’:/
2 A. The domain is {x| .{'j/(gﬁ) - éfy ‘1/77

(Use integers or fractions for any numBmswﬂhe—expreasron—Use’ a comma to separate
answers as needed.) ==

choice.
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(F=9)K) = ~7¢+7

(e) Find (f+g)(4). — :
, g](5/~"*)(3)—r/
(f+g)4)= (Type® a,n inteder or a simplified fraction.) J
(f) Find (- )(3). z :" L (8) = Xl Y — ;
9) (5) =/ DT
(f-9)3)= Grasjmplufedfractmﬂ s
(& __
(g) Find (f+g)(2). (/‘j,//f() /f\( —flSq—(¢

(f-9)2)= (Tygea n)egero)a snmp!rrec{rac!)on) 7/ )(/‘7) T
o ena [ 1 ) ()= (7T /5~
AT ///Z) (3(F) +/9(t)—/¢

o

(Type an mteger or a simplified fraction.)

7L+ 35—

Answers 11x-1 //(.) - / k .
B. The domain.is {x] 15 a reai Humber} — S:) e
-7x+7 / ( / / / Z/ _t,
B. The domain is {xl x is any real number}. = ——
B w12 ( )’(/ qs( t/
B. The domain is {x| x is any real number}. / M

A. The domain is {x| x# = ([ /)//) 2:?1 ;

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)
43
-14
98

1

ID: 1.1.67
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4. f(x + h) — f(x)

Find the difference quotient of f, that is, find h , h#0, for the following function. Be sure to simplify.

f(x)=x* - 3x+5

f(x+ h) —f(x) _
S ———

Answer: 2x+h-3

K
ID: 1.1.83 7%(/ ~xX ~5 XN~

/{K—/AZ — f&; B

(o) = 30trk) 4+

) ,.()(Z~3 X+ )

h p )
(@f/\//)(—f/\)”3>(-34 e — XN TS B
A L

i b

Jﬁéﬁb&b~fal~3xﬁ-34—+%/~f1*‘*;Yj
A

S—

_ (&
2Xhh —t4hH —~

4
2%4 A-h‘ 34

<ax+/7"‘3
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5. Using the given graph of the function f, find the following.

t
|

;"T(."’zzi (5,3~

a) the intercepts, if any

(

(b) its domain and range A {« Y 3 ;

(c) the intervals on which it is increasing, decreasing, or constant ) | '

(d) whether it is even, odd, or neither e f S
VN > | 4

‘/ 'ﬁj/ L,,/m'} 4 ({ U) = (/ ‘U 4/ .
,-'.*"'\ )(/ {,(/.:A—,”' é (& w//( “L W« //f C‘L‘ }Hﬁf

@) Whatare the@erce)j‘ 7//'| t\) ( (L({ “ﬂ/ C{_;o, // /7::(0»-,
"Z 9 I/U) (0/ Z/ \Péaui AJ/‘L& "/1{ (\ CI/'.*:--‘( -h;&-é{‘

implify your answer. Type an ordered pair. Use a comma to separate answers as needed.) —

(b) Thedomamr "S BJ — [/4’/‘( /)4 F j
(Type yo answer in interval no atlon )

() [é)d #v’ f"’l) ;ﬂ)lﬂj
The ge is Z 3 =
(Type youranswer in interval notatlon )

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within
your choice.

A. Thegraphgncreasmgon [ l OI [// }J

(Type your answer In interval notation. Use a comma to separate answers as needed.)
B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is@ﬁ on C’ZB/ slj [d/ /:(

(Type your answer in interval notation. Use a comma to separate answers as needed.)
~ B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

—

“~B. The graph isnot constanton.any interval. 3

(d) The function is (1)

(1 even.

_“-\
C_neither odd nor even,
odd.

3/12/2020, 6:57 PM
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Answers (-2,0),(1,0),(0,2)
[-33]
(0,3]

A. The graph is increasingon [-2,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-2],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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6. The function f is defined as follows.

4+2x ifx<0
f(x) =
X2 ifx=0

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a)The@ﬁofthefunctionfis é—*?&, (e / é—-—\( /;/46 y Ve /)Z,,{)

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. i [J/'-l-’f’ j L!/O “‘/)_[ "l [L)
A. Th@bs) is/are ( =¢,0.) (0/ @) T “f} 6/5‘}

(Type anordered pair. Use a comma to separate answ s as needed,)

B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

Oﬂéu Cirly

(d)T%ﬁ:;e)ofthe function f is (*—“ <D .,")(*7) 6—(4 O%/d‘a‘/ ﬂﬂ)
ini ation.)

(Type your answer in interval not

Answers (- c0,00)

A. The intercept(s) isfare (- 2,0),(0,0) . ' U.Se
(Type an ordered pair. Use a comma to separate answers as needéd.) / A
j 6\./ A

(1\/[‘] VLUL&/)

coled 1 A

7’”‘(”/0//421@4@—/

1D: 1.4.37 /;7
= - . grE*
- c{, ,.E: Z)(("’_'/&V\D /,7“4 Civ e &
)(> O) "jj( CL/c ¢ .-"/
=
L 9 =X et
7 of 25 ) : ea— 3/12/2020, 6:57 PM
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7. The graph of a function f is illustrated to the right. Use the graph of f as the first
step toward graphing each of the following functions.

(@) FO) =f(x) + 3 (b) G(x) =f(x +2) (c) P(x)= - f(x)

1
(d) H(x) =f(x + 1) - 1 (e) Q(x) = 3(x) H agx)=1(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) =f(x) + 3 below.

(d) Choose the correct graph of H(x) = f(x + 1) - 1 below.
A= A S shaft down —
O, S /B' C:

8 of 25 3/12/2020, 6:57 PM
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1
(e) Choose the correct graph of Q(x) = Ef(x) below.

9 of 25 3/12/2020, 6:57 PM
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Answers

ID: 1.5.63
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8.
(a) Graph f(x) = |x + 5| - 4 using transformations.
(b) Find the area of the region bounded by f and the "
x-axis that lies below the x-axis.

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis
that lies below the x-axis is square units. P —— —
(Simplify your answer.) ! i

Answers

ki 0525 S — S 6STPM
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)

J For the quadratic function f(x) = x> + 2x - 8, answer parts 201'“’

(a) through (c). ]

16
(a) Graph the quadratic function by determining whether its 125
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. a-j
Does the graph of f open up or down? 44

i X

O down 20 6 12 8 -4 ] 4 8 12 16 20
O up ]
What are the coordinates of the vertex? 8'

124
The vertex of the parabola is 1
(Type an ordered pair. Use integers or fractlons for any 16
numbers in the expression.) . 0-

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as needed.)

(O B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

() A. The y-intercept is
(Type an integer or a decimal.)

(D) B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The fiinctinn is increasina nn tha intarval

13 of 25 3/12/2020, 6:57 PM
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é’(a"‘“/é( jf«/lmﬂ—uj i /é( oC e« (,-ff‘* Y
Answers up ( 236 av  J9 tn., t?‘-/) 7’/‘541 L) }
Lo _ Jouv Sc’-l?/é o e

i A The x-intercept(s) is/are -4,2
«,}/ &Type an integer or a decimal. Use a comma to separate answers as needed.)

x=-1

W 5 A The ey- intercept is -8 .(Type an integer or a decimal.)
5/7 avk €a fan T/”M\
/ /e cl 4; <f

ilurys o
S /ce/ "‘“)

)7!)4

ID: 2.4.37
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honzontal r@q'ue asymltotes if any, for the following rational function.
1 (b“‘*) = ,(_-f Z PR
Ml -l To &

( wa g >
Select the correct choice b rand fill in any ans'{er boxes: withln your Chm@
O A. The vertical asymptote(s) is/are x = . L/.;_/ ;
(Use a comma to separate answers : GM / X_._, —1. ’ \
{O B. There is no vertical asymptgte. Vlr’/-,(‘( A G ‘7 f""ﬁd// Li | J
___________,..-/

--—"‘_'-_-—-’_-_

. . W”r .
Select the correct choice below and fill in any answer boxes within your choice.

A!)é/s# @nu 04/0 - Z
/

O A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needad: ) /’ ] ) { g o b £ AM,

O B. There is no horizontal asymptote. 1K 2
Select the correct chozc@ow anﬁ/ nany answer BO){ES wifhm your choice. - /

O A. The oblique asymptote(s) is/fare y =
(Use a comma to separate answers as needed.)

ol 5yl
Answers A. The vertical asymptbte(-s) isfare x= =2 =
(Use a comma to separate answers as needed.)

(2 B. There is no oblique asymptote.

A. The horizontal asymptote(s) is/are y = 2
(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

-

/6:3.4.45 }//"n{ A’)%f’;—‘ //Lv// ¢ /‘O/_ﬁ__ /3 SLa
. [ b2 / PPr P
a5 Aiyhoss Powe  0a I LAIR A

%A//{ [ Pe O é// £ 4)7 V7714/Z( // /

— P

15 of 25 3/12/2020, 6:57 PM
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1.

16 of 25

For f(x) = 7x+ 5 and g(x) = 8x, find the following composite functions and state the domain of each.

(a) fog (b) gof (c) fof (d) gog
(a) fog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (gof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain ofgofis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainoffofis{x| 1}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

{0 B. The domain of f o f is all real numbers.
(d)(@og)x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

() A. The domain ofgogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(7 B. The domain of g o g is all real numbers.

https://xlitemprod.pearsoncmg.com/api/v 1 /print/math
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Answers 56x +5
B. The domain of f o g is all real numbers.
56x +40
B. The domain of g o f is all real numbers.
49x + 40
B. The domain of f o f is all real numbers.
64x

B. The domain of g o g is all real numbers.

Bt 123 /7—5?%“

C/q // It 5 At /(X)O/
//o 9) 6
//WU

TTTTTTT122020, 6:57 PM
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©The function f(x) = 8x + 4 is one-to-one.

(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of fand f~ ! .
(c) Graph f, f ! , and y = x on the same coordinate axes.

@f "=

(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.
A. The domain is {XIX¢ o }
B. The domain is {x|x2 }
C. The domain is {X|XS }
D. The domain is the set of all real

numbers.

A. Therangeis {yly=
B. The rangeis {yly<
C. Therangeis {y|y#

_ D. Therange is the set of all real numbers

choice.

A. The domain is {x|x#
B. The domain is {x|x=
C. The domainis {x|x=

: D. The domain is the set of all real
numbers.

The range is {y|ys
The range is {y]yz
The range is {y|y #

o o w »

19 of 25
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x-4
8

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real num

ID: 4.2.53

13. Solve the equation.

8—x+21 - 16X

The solution set is j
(Type an integer or a simplified fractlon Use a comma to separate answers as needéed.

"3><+65 (/K

P —

Answer: 9 —— g
3 x+(3=27X

S VRN Y S~ L el B
B3 T¥X~—¢3

i e %//—-c 3=

~/xY=—6¢3

—7X — £Z =
T W *

20 of 25 Q__ f? - >,_____ 162 )

e — —

ID:4.3.73
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14.  Find the domain of the ftﬁgg,/‘?
: A

g(x) = In (x-9)

The domain of g is
(Type your answer in interval notation.)

Answer: (9,00)

ID: 4.4.39

15. Solve the equation. 2 f{"j}i‘i{_\ ZU? (Z»(’f T ) - Y .
o (i ) T2 )
w1

Change the given logarithmic eqUathn to exponentialf/rm 2 Lf, Z S (

2.0 7.1 ~ (L +5~

—

(Type an equation. Do not simplify.)

/6 = IXrsT o

The solution set is { b ) Y C S z
(Simplify your answer. Use a comma to separate answers as needed.) / 6 —\ = v )
Answers oy 4. 5 = 24 // B Z X

11 ﬂ_ £ % .

-l £

2 L /,,/

v/
y
ID: 4.4.91-Setup & Solve — —_—
— __‘,- pr— -\"-. _—_-________-_—'_‘_———————_ .

G Vs )

16. Theformula ./ 3 = S0 H
(omoron ¥~ ﬁf,_-/

can be used to find the number of milligrams D of a certain drug thatls in a patient's bloodstream h hours after the
drug was administered. When the number of milligrams reachgs 3, th drug is to be administered again. What is

the time between injections? /Z /0(/ “f'Uv fé

The time between injections is hour(s _,c 7\
(Type an integer or a decimal rounded to two d decumal pla as needed.) — 0, £

77
w06 S /m///

&g( / ../(/'-"\[K- —— ‘
/éi Y14 )= —0. 54// (7, / ,-5}' o, ,_,'Z.‘ (€)= ( /j» ;;;.:\-'.\
&4/ 06 ~d«-$4/// 7 ¢ T - =
P e 06) O 4

A, _—

21of25 = T e—— — 3/12/2020, 6:57 PM
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17. Write the expression as a sum and/or difference of logarithms. Express powers as factﬁ
—+ 3 )

log [MJ —_ /w ({(/'T(’/)
(x+3)° (U‘j/)(/ﬂf'(u ()(,/c// -—Cu //f/"f.() <

X(x+4) | <_/

og == (Simplify your answer.

[(wsz] QC’JM*Z@) (rrs/— 6 Zaj (X+#3) ° 3(
nswer log x+ log (x+4)—-6log (x+3) <

4 3_5 (’d) [ﬂjfd/’{(’/j/ﬁ/

ID: 4'551/6,, (dﬁ/ (/(/)ﬂ/'f(/v)/‘j)

18. Solve the logarithmic equatlo(n//;-> ZU/ 6() (x// 7) /

\'.
\

log x+ log(x+9)=1 /_?, [ j
- sa( 415
Determine the equation to be solved after removing the Iogarité.(’) X ( ,{/~.¢ 7» /J ¢ /(. /5 ) )
[y = L e
SO X35 A — e
(Type an equation. Do not simplify.) ek XZ St
Select the correct choice below and, if necessary f|l| in thlgnswer box to complete your h0Ice :
( z s /0

O A. The solution set is {
(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) / / =0 8¢ ,{///./ —
(O B. There is no solution. ‘(/(’7[/ L/**// O,?’ X——//.)—-/J o~ >

Answers x(x+ 9) =10 /(/ /// V/ ﬂZ- ( ‘_&/__{/ Z j
A. The solution set is @i

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

5%/%?'1‘40) (1) =
W)(/u ”Hzg r//f* /=
Cu vy (/) T/

ot e
Nz () o Cos (707502
(u (A /c/)//) = ¢
@/w) @49 ﬂ

ID: 4.6.17-Setup & Solve
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19. Solve the fol!ouiihé -exponential equation. s iratiohdl solutions in exac orm and as a decimal round\d to

tritga-décimal places. 4~ / f‘\ _/l": /_5 X1 ) /q /
L 3 é* Q ‘ r"‘u
 C ‘ () 4 /J/ /Zﬂ/ Y 4

What is the exact ans{gar'? éelect the correc chmcg below and, if necessary fill m the answer bax to complete ou

choice. ,(, ' /,_ 2_(/ l)/é.,,/g ,\ o,
O A. Thegmk;? // %’j /lh(?) WT'{

(Simplify your answer. Type an e ct answer) /%l // }-/,‘(,"}) .
(3 B. There is no solution. /3 / f-/

What is the answer rounded to three detimal places? Select the corre tcho:ce below and, if neces

answer box to complete your choice. / // /

} O A. The solution set is {

(Simplify your answer. Type an mteger or decimal ro d to th e decimal places as

needed.) |
| (") B. There is no solution. ‘ )( i ra / /
s /3/ a

Answers A. The solution set is 3 .(Simplify your-answer. Type an exact answer.) /

A. The solution set is { | 3.000 &. / — 2.002 ) |

(Simplify your answer. Type an integer of ecimal rounded to three decimal places as needed.) J

\ \ |

e '. / 3 \ [,/f./ == = "
ID: 4.6.41 S P {-x\

.-r-_‘hh._:""-'_-“"h__-ﬂ.-.-‘-\ll-.

20. Find the amount that results from the given investment.

\\
$600 )veste at 4% c;lmpound d quarterly after a peri
—_—

4 ﬂw' -
\A'ft’e/r4 years, the investment results in $ —— — ﬁ/ ‘ . . /) :
- ,. } ,(/, = 4-/ —- \) TR _J/I'7

(Round to the nearest cent as needed i 1f, . ./
Answer: 703.55 (// / / // /V/ / (gre) é - Y = JEA ‘/
/ / ’ﬁg{ G, / / 7 =T ) /G ~ /

ID:4.7.7 '/) r . // ) :,(/ ¢ ) 5 -

of 4 years |

_ /? 70% 597‘/,,77 e
Ch- 7035 ///zuM

— x ~=F e
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21.

Q=5 f - 23
~Select the correct choice below and r{( necessary, fill in any answer boxes within your @ A/ e

[
“ <y —
Solve the system of equations. If the system has no solution, say that it is mconsmtent.) Z ./ /(/ o

/ SN S + 2 4
/6‘)(—(,1) é) l/ : Z 9

5% +y =13

O A. The solution of the system is x= andy= | ar ’L”)J,
(Type an integers or simplified fractions.) §/ }( < /

(0 B. There are infinitely many solutions. Using ordered pairs, the solution can be written as .
{(x,y)|x= ______________ , y any real number}‘ & ( (‘) /

(Simplify your answer. Type an expression using y as the variable as meeded J) Py 2
£ - e
¢~ 57 7
Answer: A. The solution of the system is x = 2 andy= 3 — }/7 =y
(Type an integers or simplified fractions.)

ol PRI 3D

(O C. The system is inconsistent.

22,

Solve the given system of equatlons If the syis m has no solutlon say that it is;inconsistent. é/

sy edaze 12 2002 s I,f; (, =y A (} Bz\/ﬁ; 7

2x+ y+ z= -4/ ﬂ} & /T
-2x+3y-3z= - /=Y
-3 -y

Select the correct choice beldw and fill in any answer boxes within your choice.

O A. Thesolutonisx=  ,y= ,andz= . (Type
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= - Ly= ~, zany real number}.

(Simplify your answers. Type expressnons usmg z as the variable as needed. )

(O C. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2) | x= ., yanyreal number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

) D. The system is inconsistent. ./ ¢~ L)/ ﬁ &t S / <Y y Vo s / )// ol

Answer: A,
The solution is x = VY= ,andz= 2 . (Type integers or

simplified fractions. )
/ e F (//] j) - 4

ID: 6.1.45 oD e /%[4) //

240f25

O 7/ ‘Z) Tﬂf: Z/l Z) U

7 = 3
31212020, 6:57 PM
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2 @@/ﬁ% uz/jm//, 7y Celelide

4 S #w i_
Y (8k+2) ---Q s 2 a) GK_

; é(')ﬂ‘&/ £ /57(2)—/47~ﬁ (//f)—r—z) —,é ///Y)-f( =
Zsm)-LKLL/ (161 v (2 vt ((30¢0) = \

/ k=1

(7)) + (L0 "f'(?U (3=

Answer: 88

\‘\ . ID: 7.1.73 C
) f“ﬂk’w cte=t=

< Gl pan‘gﬁexpr%sim(n:smgj * (:he;;eﬁm(f)f C.(,<)( 5)r o ﬂ()'ff)irf ¢ /O( 7) =
//)/w)(’/) + (s/j/ ///) f(/y&///s/f(/c/(,(/(;;) f(jj(x)(mf(,)(()(a)

//Answer X2 + 15 +90x +270x% +405x + 243 _ 2 ;/
&MY 7”?’0)(57'3/0)( 7“‘/05)(74 j—i/

ID: 7.5.17 = _FF

- =ny

.|..I.-

s

25. Find @ﬁhe equatio). : . :
= 31 T /Therr e

2+4/3x-2 =x — U}(’l - )/'—Z’

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

O A. The solution set is { _
(Simplify your answer. Use a comma to separate answers as needed.)

(O B. The solution is the empty set.

Answer: A. The solution set is { 6 }

(Simplfy your answer. Use @ coma o separate answers as needec!) L <dey
e (V) @) Q@ P ade
1_..*\ 33— 2 (x 2 ) (1)
?” S¥={£ - /\/ —l —IX Y
S—2 = X=X+
Oi A/Z — K &~ 342

O x° 2
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